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Problem 2: (30 pts.) The long, straight wire AB shown in the figure carries a current of
14.0 A. The rectangular loop whose long edges are parallel to the wire carries a current of

5.00 A.
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a. (10 pts.) Find the magnitude and direction of the force on segment (1) of the loop.
b. (10 pts.) Find the magnitude and direction of the force on segment (2) of the loop.

c. (5 pts.) Find the magnitude and direction of the force on segment (3) of the loop. You
may simply re-use earlier parts of this problem, if appropriate.

d. (5 pts.) Find the magnitude and direction of the force on segment (4) of the loop. You
may simply re-use earlier parts of this problem, if appropriate.
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a. (10 pts.) Find the magnitude and direction of the force on segment (1) of the loop.
b. (10 pts.) Find the magnitude and direction of the force on segment (2) of the loop.

c. (5 pts.) Find the magnitude and direction of the force on segment (3) of the lodp. You
may simply re-use earlier parts of this problem, if appropriate.

d. (5 pts.) Find the magnitude and direction of the force on segment (4) of the loop. You

may simply re-use earlier parts of this problem, if appropriate.
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